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Name: Date: Score:
x 50% = 50 x 80% = 12
x90% = 1.8 x 50% = 37
x 90% = 20.7 x20% =15
x 50% = 27.5 x70% = 18.2
x 10% = 6.1 x 60% = 52.2
x 50% = 39 x 10% = 9.8
x 60% = 13.2 x 90% = 87.3
x90% =23.4 x90% =9
x 10% = 8.6 x 50% = 25
x 80% = 26.4 x 90% = 53.1
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Percents of Numbers (missing number)

Name:

100 x 50% = 50

2x90% = 1.8

23 x90% = 20.7

55 x50% = 27.5

61 x 10% = 6.1

78 x 50% = 39

22 x60% = 13.2

26 x90% = 23.4

86 x 10% = 8.6

33 x 80% = 26.4

Date:

15 % 80% = 12

74 x 50% = 37

75 x20% = 15

26 x70% = 18.2

87 x 60% = 52.2

98 x 10% = 9.8

97 x90% = 87.3

10 x90% =9

50 x 50% = 25

59 x90% = 53.1
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